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1 Aft® 280 * 1 + 0 = 28 > INA%ZE—65 93.0 X1/12 7.8 + 3.18 = 10.98 46.8
2 At 280 % 2 + 168 = 72.8 > IYAZE—65 137.8 x1/12 11.5 + 3.80 = 15.30 69
3 Att#® 280 % 3 + 168 = 100.8 > INAKE—(IXAKE X 40%) 168.0 X1/12 14.0 + 4.00 = 18.00 84
4 At 280 * 4 + 168 = 128.8 > INAZE—(IXAZEX30%+18) 209.7 X1/12 17.5 + 4.00 = 21.50 100
b Att#® 280 % 5 + 168 = 156.8 > INAZE—(IXAKEX30%+18) 249.7 X1/12 20.9 + 4.00 = 24.90 100
6 Att#® 280 % 6 + 168 = 184.8 > INAZE—(IXAZEX30%+18) 289.7 X1/12 24.2 + 4.00 = 28.20 100
7 Att#® 280 % 7 + 168 = 2128 > INAZE—(IXAZEX30%+18) 329.7 X1/12 27.5 + 4.00 = 31.50 100
8 Att#® 280 % 8 + 168 = 240.8 > INAZE—(IXAKEX 20%+54) 368.5 X1/12 30.8 + 4,00 = 34.80 100
9 Att#® 280 % 9 + 168 = 268.8 > INAZE—(IXAKEX 20%+54) 403.5 X1/12 33.7 + 4,00 = 37.70 100
10 At 280 * 10 + 168 = 296.8 > INAZE—(IXAKEX 20%+54) 4385 X1/12 36.6 + 4,00 = 40.60 100
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